io) il 6 £
8 == H R 3

(GH6FE6 AXRETICHELTZIHLI-57)

LEFBEEREE
HHSELH SH6E6 AXRDIKREBEISFERRBEHADIKR
(8 smse | smas | snss £HI6%E . 414
gy 1A~68 | 1A~68 | 1A~6A 1A ~6H8 RISRLE L
B 5 Clanroo]FE (GFETT|SE (GIFE TSR GIFETTIFE 558 Tlmmumonln s = sfx  w )
e = = a 5 355 71 100.0 192 156 149 6] 136 3] 100.0 -13| -8.7 19
&l & ¥ 90 2] 17.9 52 47 39 2 40 294 1 26 5
' H & & & % 60 8.2 36 26 24 24 17.6 3
K E B H B @ & % 52 6.7 30 20 22 18 13.2 -4| -18.2 2
Z () it 8 1.4 6 6 2 6 4.4 4] 200.0 1
BHIE - KBZTOBOBERANESE 0.3 2 2 1 0.7 -1] -50.0
A # - K& & &8 & ¥ 2 1 0.7 1 3 1 1 3 2.2 2] 200.0
X E - & F & 8 & X 0.1 2 1.5 2
NILT-#H-EMIT mE % 1 0.4 1 1 0.7
R - H K % 1
1t % T ES 1 1 0.7 1
Ex -8 K8 & F 3 0.2 1 1 0.7 1
BME-EBKEREHNEE 2 0.1 1 -1[-100.0
£ B ®8 & # & E 4 1.3 1 3 1 1 0.7
— R B W R B H & X 3 0.6 1 2 1 -11-100.0
T &R H W B 8 8 & % 1 0.4 2 3 1 -11-100.0
Bk FA oM o B & E X 4 1 45 2 6 2 1 2 1.5
s fia ES 4 1 45 2 6 2 1 2 15
< )] ith
g K AR - K E X 0.3
z O o0 BB & % 9 0.7 6 4 4 4 2.9 1
i ES 1 0.1 1 1 0.7 1
T = % HR ES 1 0.1 1 1 0.7 1
z ) ith
& % ES 53 3| 11.7 34 16 24 3 13 9.6 -11| -45.8 3
+ X T S ES 13 6.3 18 8 6 7 5.1 1 16.7 1
2 E T = ES 28 1 43 11 4 11 1 1 0.7 -10[ -90.9
BE-BHGIAVIU—NRERETIES 8 2.5 3 2 3 -3|-100.0
A& R E B FE T £ % 11 1 0.2 4 4 1 -41-100.0
B OFE % g T H O OX 1 0.3 1 1 -11-100.0
T O 0B FEITEE 8 1.2 3 2 3 1 0.7 -2| —-66.7
z O M o B £ 12 2 1.1 5 4 7 2 5 3.7 -2| —28.6 2
b L] b bt ] ¥ 40 40 19 19 12 12 8.8 2
i - B E - kB A 0.1
B OB Ok B OE X OE 2 0.1 2 1 1 0.7 1
BH OB OE Y E K E 38 3.8 17 18 12 11 8.1 —1 -8.3 2
T D D E B ORX B E
g Y| H b4 ES 1 1 1 3 1 2.2 3} 1
fE E & % m Kk E 3 1 2.2 3 1
& B b pe ES 1 1 1
B ES 6 0.1 3 4 -41-100.0
% ES 4 0.7 4 1 2 8 2 59 6] 300.0 3
g E E K OE O E 11 1.7 8 9 6 5 3.7 -1] -16.7
[ ES 45 1 50 38 21 20 1 15 11.0 -5 -25.0 2
Hl o5 N - 42 1 44 33 19 19 1 14 10.3 -5 -26.3 2
< )] ith 3 0.6 5 2 1 1 0.7
& @ L & % 2 0.7 2 2
B E OB %
& 1g x 04 3 1
H B A 2 0.2 2 -2|-100.0
R i f& & ES 48 52.3 10 21 20 23 16.9 3 15.0 1
% = I P ES 18 1.7 6 3 7 6 44 -1 -14.3 1
il fE ES 4 0.2 1 1 3 1 0.7 -2| —66.7 1
- % 7 5
z () it 14 1.4 5 2 4 5 3.7 1 25.0
b=} 7 & £ ES 15 2.2 5 9 8 7 5.1 -1 -125 1
E L A Y 5 5 v X % 7 0.3 1 4 2 15 -2| -50.0 1
Be ZE M X 7 1.8 5 8 4 5 3.7 1 250
z )] ith 1 0.1
B N Zz 1
z O M o =B X 18 1.4 6 7 5 3 2.2 -2| —40.0
= & ES 8 0.6 2 3 3 2 15 -1] —-33.3
z )] it 10 0.9 4 4 2 1 0.7 -1] -50.0
E £ BE ¥ #E £ F £ 38 3.8 17 18 12 14 10.3 2| 16.7 3
/N 58 ES 37 41 27 17 15 13 9.6 -2| —-13.3 2

# & & 4 i FH 38 29.1 7 18 15 19 14.0 4 267 1
GE)1. HEBERBRBRE KEIBLULE)I2LD, :




T
H B K EREE K

AN

I

6

5

R EFEIOFIAIVARRIEZR)

(GH6F6 ARETISHEZTZEL-5)

Aath, RgH, &I

%%ﬂffpé,ﬁﬁ STHE6E ARDKREBEIERRHIDIKR
(HEE) amsE | amag | sm55 464 N
3 1H~68 | 1A~6A | 1A~6A 18 ~68 Al H
IS Clanr oo (S FETIFE S RTIIE BT 55 T lame ool s = uls %)
ES B = a £ 232 6| 100.0 121 101 99 51 101 11 100.0 2 20 11
B & * 53 1] 154 31 28 22 1 30 29.7 8] 364 3
® # & &#H & % 31 6.3 23 14 12 17 16.8 5| 41.7 2
K E B B & @ & 23 4.8 17 9 10 12 11.9 2] 200 1
% )] 1th 8 1.4 6 5 2 5 50 3] 150.0 1
BHIL- KBZOMOMERINEE 0.3 1 1.0 1
A #M - K @R & E ¥ 2 1 0.8 1 3 1 1 3 3.0 2] 200.0
X E - E & & & & ¥ 0.1 2 2.0 2
NILT-H-HEmT HE g 1 0.5 1 1 1.0
B Rl # X %
1t 2 T ES 1 1.0 1
Ex -+ 78 5HEE X 3 0.1 1 -1(-100.0
B E-EHESRE M EE 2 0.1 1 -11-100.0
B # & & & % 2 1.2 2 1 1 1.0
— i % W F B o f X 2 0.3 1 1 -11-100.0
B A % W B 8 oE % 1 04 2 3 1 -11-100.0
Bk A w2 B &g % 1 44 3
& " = 4.4 3
% 0] ith
E K A R - K E E 04
O O o #H O F % 8 0.5 3 3 3 4 40 1 333 1
fi *x 0.1
et =) % HY *x 0.1
£ [ ith
2 5% ES 37 3] 11.9 20 9 15 3 10 9.9 -5| -33.3 2
T 7N T ES * 7 6.1 10 4 2 4 40 2] 100.0
& Y T = 3 19 1 4.6 6 2 7 1 1 1.0 -6| —85.7
BE-BHIVI—IRERETEE 6 2.9 2 1 2 -2(-100.0
A E R R B E T F % 8 1 2 2 1 -21-100.0
B OFE %5 fF T =: O 1 0.4 1 1 -11-100.0
T DM 0B E I E X 4 1.3 1 1 2 1 1.0 -1] -50.0
z O M 0o B % F 11 2 1.2 4 3 6 2 5 5.0 -1 -16.7 2
P! L) B bt ES 34 3.8 15 16 10 11 10.9 1 10.0 2
S - B E - KB - LT 0.1
BB Ok B OE % % 2 0.1 1 1 1 1.0 1
B K OB % B Ok % 32 3.5 14 15 10 10 99 2
T D oD E & X E F
g ) H i S 1 1 1 3 1 3.0 3 1
fE F B % H K X 3 1 3.0 3 1
& = e £ ES 1 1 1
B S 4 0.1 2 2 -2(-100.0
% *
5 E % K OE OFE 7 0.9 7 5 3 4 40 1 338
5] S 24 1 3.8 25 12 13 1 11 10.9 -2l -154 1
#l 5 % N FEOF 23 1 3.4 23 12 12 1 10 99 -2l —-16.7 1
Z ) fth 1 04 2 1 1 1.0
® B & % 2 0.3 1 1
B B H OBl %
& = e 0.1 1 1
E5 5 . il =% S 2 0.3 2 -21-100.0
e i & G ES 33 59.0 7 18 16 18 17.8 2 125 1
& = Y - * 10 0.8 4 5 4 40 -1] -20.0
il B * 2 2 -21-100.0
3 L ) 12
Z ) fth 8 0.8 4 3 4 40 1 335
=1 i & ES * 12 2.2 2 7 7 7 6.9 1
E L A Y F F v Z X 5 0.3 1 3 2 20 -1 —-33.3 1
B T & 4 @ % 6 1.8 2 6 4 5 5.0 1 250
< ) fth 1 0.1
B N £z 1
z O f o =H % 12 1.3 5 4 4 3 3.0 -1] -25.0
= & S 7 0.4 2 1 3 2 2.0 -1] -33.3
% V)] 1th 5 0.9 3 3 1 1 1.0
E £ & ¥ & #* F FE 32 3.5 14 15 10 13 12.9 3] 30.0 3
I 55 ES 20 2.9 17 10 10 9 8.9 -1l -10.0 1
*t & & #H m =® 25 28.6 5 15 11 15 14.9 4] 364 1

CE)1. FBERGHRHRS KF4B L L) 28D, 2. FHSEEH EI|RIE) (X, FF6EIAXRBETICRMALIRGRBEIZLD.




T
I B KERE K

AN

I
R EFEIOFIAIVARRIEZR)

6 £

(GH6F6 ARETISHEZTZEL-5)

SAET, F=FEET

RHSELH SH6FE6ARDIKRE B EIFERBEAD KR
(HEE) amsE | amag | sm5s 464 N
N 1B~68 | 1A~68 | 1A~6A 18 ~6H il H
B 5B T=|mmoo|3E S FETTIBE B R TIE SR TN 155 Tlumuwooln s = sle %)
® FE X & i 123 1] 100.0 71 55 50 1 35 2] 100.0 -15] -30.0 8
&l & 2| 37 1| 232 21 19 17 1 10 28.6 -7 -41.2 2
- - 13.1 13 12 12 7 20.0 -5 -41.7 1
K E B M g s o@ o= 20 12.1 13 11 12 6 17.1 -6 -50.0 1
% ) 1t 1.0 1 1 2.9 1
BT - RBZTOMOGSENINESE 0.5 2 2 -21-100.0
A M - K W B o8 E ¥
¥ E - % B 5 W E ¥
NILT-H-HEmT HE g
Rl . 1
it ¥ T %
E ¥ -+ R 88 8 % ¥ 0.5 1 2.9 1 1
¥ - EHEEREE
& B ® g @ # ¥ 2 2.0 1 1
— B% M W B B s oo 1 1.5 2
E S MM S B8 g g 0.5
Wk P M Mo B oA o 3 1| 35 2 3 2 1 2 5.7
i fin S 3 1| 35 2 3 2 1 2 5.7
% ) fth
E R - H A - K BE ¥
z 0 i o0 B & % 1 15 3 1 1 -1[-100.0
i S 1 1 1 29 1
+ " 1% i E 3 1 1 1 2.9 1
Z ) it
B2 & %2l 16 7.6 14 7 9 3 8.6 -6| -66.7 1
+ X T £ ¥ 6 5.1 8 4 4 3 8.6 -1| -25.0 1
= Ed T = S 9 2.0 5 2 4 -4(-100.0
BE-HBOVIY—FRBRETISE 2 0.5 1 1 1 -1]1-100.0
AEFREEET = ¥ 3 1.0 2 2 -2(-100.0
B Og =% g T ' o%
Z D0 B EITE 4 0.5 2 1 1 -1/-100.0
D o0 B OB % 1 0.5 1 1 1 -1[-100.0
e # 3z B S 6 45 4 3 2 1 2.9 -1 -50.0
8 8 - B E - KB - %%
B OB Ok B OE % % 1
B OB OB oW B O ¥ 6 45 3 3 2 1 2.9 -1 -50.0
D0 E WX E %
& ) i % ¥
B F & ow E R %
% & B % ¥
2 % 2 1 2 -2[-100.0
% % 4 3.0 4 1 2 8 2| 229 6] 300.0 3
5 E % K OE % 4 4.0 1 4 3 1 2.9 -2| -66.7
7 2l 21 8.6 13 9 7 4 11.4 -3 -429 1
T - L 7.6 10 7 7 4 11.4 -3 -429 1
Z ) it 2 1.0 3 2
£ & L & % 25 1 1
B OB %
B = ¥ 15 2
5 B - W T %
% 2 i £ #| 15 36.9 3 3 4 5 14.3 1| 25.0
i = §a ES S 8 45 2 3 2 2 5.7 1
id £ S 2 1.0 1 1 1 1 29 1
3 L 7 15
Z ) ith 6 35 1 2 1 1 2.9
T T - - 3 1.5 3 2 1 -1[-100.0
E L A Y F 4 5 2 % 2 0.5 1 -1(-100.0
BOE & om o@m o% 1 1.0 3 2
% ) 1t
=) 4 E 0.5
- - 6 1.5 1 3 1 -1(-100.0
z 1% % 1 1.0 2
Z ) 4t 5 05 1 1 1 -1[-100.0
B E B 4 B % T ¥ 6 45 3 3 2 1 2.9 -1| -50.0
]\ % #l 17 7.6 10 7 5 4 11.4 -1[ -20.0 1
# & # # % 13 35.9 2 3 4 4 11.4

GE)1. FBERGHRRE KFKABLLL)I2KD, 2. FHSFEH GEERI

Tt

). FF6EIARBETICZMALIEERBEITLS,




